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QUESTION 1

Which one of the following is NOT the name of a tool that can be used to manage virtual machines in a KVM
environment? 

A. virtviewer 

B. virtclone 

C. virtinstall 

D. virtimg 

E. virtmanager 

Correct Answer: D 

 

QUESTION 2

Which of the following statements are true about hardware virtualization? (Select THREE correct answers) 

A. Hardware virtualization can run an unmodified Guest OS. 

B. Hardware virtualization requires specially configured drivers for virtualized hardware. 

C. Hardware virtualization does not use CPU emulation. 

D. Hardware virtualization can take advantage of Intel VT and AMDV technologies. 

E. Hardware virtualization is also referred to as containerbased virtualization. 

Correct Answer: ACD 

 

QUESTION 3

Which kernel boot option should be used to reserve 512 MB of system memory for the Xen hypervisor? 

A. xen_mem=512M 

B. memory=512M 

C. dom0_mem=512M 

D. mem=512M 

Correct Answer: C 

 

QUESTION 4
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Which solution is needed to make several servers in a network appear as one server? 

A. pacemaker 

B. heartbeat 

C. drbd 

D. lvs 

E. clvm 

Correct Answer: D 

 

QUESTION 5

In heartbeat (versions 3 and post 2.1), what should the crm directive be set to? 

A. on 

B. no 

C. respawn 

D. pacemaker 

E. off 

Correct Answer: C 
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